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What is a -matrix ? An a_utomobilé company " has

two manuf.ac.t.lfr_ing 'plair_Lts Io.cated at I-)elhi-l'and Agra. -
It manufactures—-Scocters (S) éﬁd Motorbikes. (Mj at each
ple;nt. Each v'ehiéle is producé;'l in .three ._inodells A, B and’
C. The 'follov.vir.ng tlwo _matrices’ g_ive fhe nymber of vehicles

(in Lhousénds),of each model prodﬁced in two plants during
2012
A BC. AB C
D=S {45 25 60] P=S [55 32 28|

M[32 28 20]  M|[35 22 33]

() Write a matrix showing the total production for both

plants in 2012.

(i) If the production is.increaséd_ by 20% in Delhi plant

. and 10% in Agra plant, write' the matrix for total

. production for the following year. .
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A transport com'pziny uses three types of trucks A, B and
C to transport three types of vehicles V,, V, and V;. The
capacity of each truck in terms of thre¢ types of wvehicles

is given below !

Vehicles
Truck Types .
V, | Yy | Vs
A ] 3 2
B 2 2 3
- C 3 2 2

Using matrix of algebra, determine the number of trucks of

each type to transport 85, 105, 110 vehicles of types V. 'V,

and V, respectively. _ ‘ 4
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(a)'z' 1f demand function for a certain commodlty is
Q=500~-2P (0 < P g 250), then determine where the
- demand is elastic, inelastic and of unit elasticity with )

respect to price. 4
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Given thc.demandA function Q= 750 - pé ~ 6p, find the

price elasticity of demand at p = 20. , 4

form T % B H WEE Q = 750 — g2 - 6p, W

Cp =20 W AT F FE @ Fw ORI

“The cost of fuel in running an engihe is proportional to

the square of the speed in kms per hour and is

~ Rs. 48 per hour when the speed is 16 kms per hour:

Other costs ambunt to Rs. 300 per hour. Find the most
economical speed. .
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- HC =001 x2 + 5x "+ 100 is a cost function, find the

average cost function. At what leve! of production xis
+ there a minimum average cost-? What is this minimum

cost ? ' : 4
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* A machine costing Rs. 50,000 depreciates at a constant

rate of 8% per annum. What is the depreciation charge

'fof 8th year ? If the estimated useful life of the machine

is 10 years, determine its scrap value.
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Explain the relationship between the Effective Rate and

- hd -
-the Nominal. Rate. . Calculate the effective raie

corresponding to the nominal rate of 8% compounded

quarterty. 3
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If interest is compounded continuously at an annual rate
of 7%, how many years would it take for a principal P '
to triple ? Give your answer to the nearest year.
Ty = F AR THIiE T F 7% F) qEH
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Or
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A person deposited Rs. 4,000 in a bank at 6%
compounded continuou.sly. After 3 years, the rate of
interast was increased to 7% and after 5 more -years, the
rate was further increased to 8%. The money was
withdrawn at the end of 10 years. Find the amount. 3-
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8 3,500



